MONUMNET INSTALLATION

S
<
=
-
<
O
<
Z
o
o
O




WELCOME TO

CROSS
TRAFFIC

HERRICK
WILDFLOWER PLANTING &
GATEWAY MONUMENT CONCEP

. & ’ - 2 "
- !
» b ’ v
- - .
' =
- ‘. ot » - .
.
- »
» Y " » i .
’ - i L]
. ‘ 4
1 . w » "
- g0 e »


s155989
Text Box
HERRICK AVENUE 
WILDFLOWER PLANTING & 
GATEWAY MONUMENT CONCEPT


Wd 6l:/.G:2 <= @31101d 3INIL 00-00-00
€202/52/01 <= Q3L101d 3Lva NOTSTASY 1SV
(V2}
<5 o
Ll
ol X<
TS 1 1
° 1 1
" : L
2
_.u_m_N < 5 |5 | 1 — -
n 5 |3 ! ! C
i \ " - ! C
1 I C
O ! ! U L C
(720N 1 1 C
w5 1 1 C
4O 1 1 o C
S| ~ 1 |
= Q
o o ! I C
- < LY : ; Y p C
- - _/r__/_/N 1 1 (@) C
Nl ™~ S x 1
e} O TN ! N
D.m w LN | 1 A
~
= a S8y Lo I
na
an UWS __ " L -
@ S 9 ! ! N
<< DnS_/_/_ . 1 1
(1] [N} OFCN_/ 1 | °e
- | — w — Aon_ﬁ_nc,_ 1 1 L
2 o L Jwiy ! ! —
(@) m < (] NDUD/_/W 1 I <t
2 3] SKkXs ! _ O
2 |2[R583 o A
W > D/_/ 1 | L
< O Aﬁ/_DN | 1 S
e C/_OS | |
> — N \ <
| = (AR NN Y ! I \
Zz| D o o OSMM_/ | I \ I
a3l L L wore Voo ' Q
wn SIS 1 I \
&) zZ Nl IO Lo \ o
yd _/_/r_ﬁ.:.) 1 I \
S gz | DERG - ,
A= Sl ER - N 0
= | o - NSRS L 5 o
()] 1 1 /N M
1 I \\ //
[ /7 \ )
|| / N N
1 4 N
AN
__.. h =
¥ /// Q
7] _\ S Ll
I AN 2
1 S e O
| S~ (A
I S~a (ol
1 ~<.
|
! IIIII
I Tt-al
— "I’II
\ T~al
/ III
\ ~~o
IIIII \ IIIIIII II/I
/I/ /\ III I//
) //// /// O
' III /I/ O
1 _ //// RN (@)
| S o // O
| _ s s Se Se
1 ' S o SO
1 _ > > > /I ~ T
1 X vuvunvVVWV@WV@WV@WV@WVVWV@WV%W o Sso S~ —
" _ > > > > > > > > > /// /// =
: ' > > > > > > > s> So So -
— = N - > e e - > - > e e < // ~
! > > > > > > > > > ~ S o
| ' IWWIWWIW > > oy > > > oy > > > > // //
" _ L =7y =7 =7 =7 =7 >y =7, > RN < Se .
| AN Y A O s 2 SO //
| -? uv% .7 N N uv% uv% // N
| V@WVVWV@WV@WV@WVVWVV m /// /// [
__ > > > > > > = S N
| = > > > > s> s — AN RN
N B> 53 53 5 L - > N N
! > > » » » » = So e
1 Ll AR it T e S YN = S S
__ = L =T, 2T, 2T =7 >T, 7, 1 RN RN
T ) NN A N e o S
1 C N > > > > > > — N
_ > > > > > > ~
1 | O %/WWV/WWIVMvWIW/WWIW/WWV@W DH_I y So
! D) = > > > > > > _L|__L| \ S
! s O > > > > > s WQ N
I _I_I_Vl A R T . S N
| > » » » 2 » (@)
1 e nga A i T S P |
| o= > > > = N > o
| O o b T > Ty Dy By By T, > Lo
O Ll A A S N S N N M —
1 R OT > > > > > > > w—/
— > > > > > > > o~
\ o< V@WV@WV@WV@WV%WV@WV%WV@ —
! 0o =2
X _]
1
1
1
1 N —]
1
1
1
1
1 —_ ]
I __”__|_|_D|
1 DHVI
! —
1 T( -
|
! O
1 =
=z =
\ — < .
1 TM
| Ay |
1 VADH O
1
1 _L|_O
__ —
1
1
1
|
1
1 Ll
1 1
1 <<
1 @]
| n
_ n
! o L
! W T
! aYS)
- ! xz
- — —_ ] O.l.
—— I m
—_ 1 z
—_— — | _I_I_.I.
1
1 Tt-e W.S
1 Illlll [
| IIIll w <
! = - _
— I’II
1 L Tt~ o mm_
1 2 T~
1 P ~~o
1 L \SRW llll/l
LS T~ ~-—
1 < -~ IIIII
~ II
1 -~ ~~a
X - ~~-
- __ O —-~ — IIII
- . — /:/ IIII
—~ - — __ R \SINM T~ - IIII
T~ - ) R /:/:
- I:/ 1 E - < -~ ~ -
T S~ - —
1 S~ o IIII /-/
IIII IIII lIIII T~
__ Illllll IIIII =~ ~ —
- | T ~a llll/ T~ =
llllll \ ~~_ IIII .- =2
::::::: ! ~~__ ~<_ ~. iS)
-~ -—_ | IIII IIII o
llllll 1 IIIII IIII (@]
,,,,, ! = T~ £
1 -~ T~ +
\ \SRW Tl R c
1 /././ IIIII IIIIII m
1 T~ IIII IIII
__ /./: IIIII ~ m
1 T~ Tt ©
__ M ~. 5
~~ S~
1 INW =~ ~. IIII T
1 =~ S~ |
1 /./ S~o m
1 - ~. S~o
! IIIII - - IIII W
! T~ T~ IIII D
“ Qw IIIII ~ - H_
1 S~ /:/: —
! - ~. 3
1 l/l/l /./. WJ
| IIIII /./. 5
1 ~ o ~ —
! T~o T~ _
1 S~ ~. M
1 IIII ~ N
1 III O
1 T~a =
— II 2
| T~a o
1 ~< o~
“‘ 1 T~a -
‘ 1 III °
1 S~
| S~a
| IIII AN A
! I q
1
Wy
“ z 2
! Z
1 o
;. 1 w =Z
1 v O
—_— 1 o0
|
1
1
1
1
1
1
1
1
1
1 \
|
_ Y
1
|
1
1 —
1 [QV]
1 O
| QN
1 AN
(00
N
o
)
S Lo
AN (V)
A Y —_
N >
L
o~
_I
(92}
<t
_
d3STIA3Y F1va Ag J3INI3IHD ms
° 2/2)- 27 | -
)]
Ad 03SIA3Y .»%mm/m%%wm LO3LIHOYY 3I4VISANYT HOINIS NO] 0dSN 0 ININ 30 - VINYO4IT¥D 40 3LVIS | ©
LV1H0dSNYYL 40 ININLYYd VINYO4I1VD 40 31Vl o
X X X




PRODUCT: Q-9S

WEIGHT: 2,689 Ibs.

Authorized Signature Date
CONCRETE COLOR: CONCRETE TEXTURE:
QUANTITY:
SEALER: PERMASHIELD 4200 SEALER
GENERAL PRODUCT NOTES:
CONCAVE SIDE
CONVEX SIDE
PLAN VIEW
UNFOLDED ELEVATION VIEW

DATE FILENO. SHEET

C PLANTYPE GRAPHIC PLAN 6/19/23 Q-9S-1

Q D SCALE DRAWN BY:

PRODUCT Q-9S | MONUMENT SIGN | SIGNAL LARGE 3/8"=1"' oF
PC. NO. QC ITEM NO.

www.gcp-corp.com

PROJECT NAME

C:\Users\Bedford\Quick Crete Products Corp\AutoCADSP - Documents\SIGNS\Q-9S-1.dwg, 6/19/2023 9:09:54 PM, Bedford


AutoCAD SHX Text
E = EXPOSED FINISHED SURFACE

AutoCAD SHX Text
CONVEX SIDE

AutoCAD SHX Text
CONCAVE SIDE

AutoCAD SHX Text
CONCAVE SIDE


QTY:

#3 REBAR @
12°0.C. MAX.
EACH WAY

e

}

L

3
B
g

.4
+
s

SECTION VIEW

Authorized Signature Date

(2)3/4°DIA. X L. COIL INSERTS (CX-2)
WITH 1/2" SPACERS FOR LIFTING SIGN
PATCHED IN FIELD BY OTHERS

‘ 81 1/4°C.C.

T

18"
EXPOSED
(8)3/4DIA. X 6L. COIL INSERTS (CX-2)
FOR ANCHORING SIGN IN PLACE 3/4°DIA. X 23°L

COIL ROD

UNFOLDED ELEVATION VIEW

127 1/2"

(8)3/4°DIA. X 6L (CX-2)

Ri&=5 11/16 COIL INSERTS WITH COIL ROD

16 1/2°C.C.

i 116 1/4" |
BOTTOM VIEW
DATE FILE NO. SHEET
e | CONSTRUCTION PLAN 6/19/23 .95
QCD SCALE DRAWN BY:
oot | Q-9S | MONUMENT SIGN | SIGNAL LARGE 3/8" = 1 -
WWW.qCp-COf p-com PROJECT NAVE PC. NO. QC ITEM NO

C:\Users\Bedford\Quick Crete Products Corp\AutoCADSP - Documents\SIGNS\Q-9S-2.dwg, 6/19/2023 9:10:48 PM, Bedford


AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
(8)3/4"DIA. X 6"L. COIL INSERTS (CX-2) FOR ANCHORING SIGN IN PLACE

AutoCAD SHX Text
(2)3/4"DIA. X 6"L. COIL INSERTS (CX-2) WITH 1/2" SPACERS FOR LIFTING SIGN  PATCHED IN FIELD BY OTHERS

AutoCAD SHX Text
(8)3/4"DIA. X 6L. (CX-2) COIL INSERTS WITH COIL ROD 

AutoCAD SHX Text
R14'-5 11/16"

AutoCAD SHX Text
3/4"DIA. X 23"L. COIL ROD

AutoCAD SHX Text
#3 REBAR @ 12"O.C. MAX. EACH WAY


INSTALLATION NOTES:

1. CAST=IN OR CORE DRILL (8) 3”DIA. x 22”DEEP GROUT POCKETS INTO
FOOTING PER ANCHOR BOLT PATTERN. (SEE PLAN BELOW)

E)) 3/4” DIA. x 23”L. LONG COIL RODS AND THREAD 5” INTO
(8) 3/4” OIL INSERTS LEAVING 18” OF THE COIL ROD EXPOSED.

3. FILL ALL GROUT POCKETS W/ NON-SHRINK GROUT AND POUR EPOXY
ON THE FOOTING WHERE SIGN WILL BE PLACED. INSERT SIGN W/
COIL RODS INTO GROUT POCKETS.

4. SUGGESTED ANCHORING METHOD NOT CALCULATED. PLEASE CONSULT
STRUCTURAL ENGINEER.

5. FOOTING & INSTALLATION BY OTHERS.

MONUMENT SIGN ———~=" _

Authorized Signature

By signing above or stamping this dray

is give to QCP to produce this dra

(8)3/4°DA. x 23'L.
COIL ROD

(8)3DIA. x 20"DEEP
GROUT POCKETS
BY OTHERS

FOOTING BY
OTHERS

ELEVATION VIEW/INSTALLATION VIEW

HARDWARE L_I=TT
QT Y TYyP,PE

8 3/4"DIA. X 23°L. COIL ROD

1 SIKAFLEX

1 PATCH KIT

Date

approved” or “no exception taken” authorization
within a 1/4

tolerance.

DATE
6/19/23

FILE NO.

Q-9S-3

QCD PLANTYPE INSTALLATION PLAN
PRODUCT Q9-S | MONUMENT SIGN | SIGNAL LARGE

SCALE
3/8"=1'

DRAWN BY:

SHEET

www.gcp-corp.com PROJECT NAME

PC.NO.

QC ITEM NO.

OF

C:\Users\Bedford\Quick Crete Products Corp\AutoCADSP - Documents\SIGNS\Q-9S-3.dwg, 6/19/2023 9:20:36 PM, Bedford


AutoCAD SHX Text
(8)3"DIA. x 20"DEEP GROUT POCKETS BY OTHERS

AutoCAD SHX Text
(8)3/4"DIA. x 23"L. COIL ROD

AutoCAD SHX Text
SIKAFLEX

AutoCAD SHX Text
FOOTING BY OTHERS

AutoCAD SHX Text
MONUMENT SIGN

AutoCAD SHX Text
HARDWARE LIST

AutoCAD SHX Text
QTY

AutoCAD SHX Text
TYPE

AutoCAD SHX Text
8

AutoCAD SHX Text
3/4"DIA. X 23"L. COIL ROD

AutoCAD SHX Text
1

AutoCAD SHX Text
SIKAFLEX

AutoCAD SHX Text
1

AutoCAD SHX Text
PATCH KIT

AutoCAD SHX Text
                INSTALLATION NOTES:  INSTALLATION NOTES:  1. CAST-IN OR CORE DRILL (8) 3"DIA. x 22"DEEP GROUT POCKETS INTO FOOTING PER ANCHOR BOLT PATTERN.   (SEE PLAN BELOW)  ANCHOR BOLT PATTERN.   (SEE PLAN BELOW)     (SEE PLAN BELOW)  2. TAKE (8) 3/4" DIA. x 23"L. LONG COIL RODS AND THREAD 5" INTO (8) 3/4"DIA. COIL INSERTS, LEAVING 18" OF THE COIL ROD EXPOSED.  3. FILL ALL GROUT POCKETS W/ NON-SHRINK GROUT AND POUR EPOXY ON THE FOOTING     WHERE SIGN WILL BE PLACED. INSERT SIGN W/ COIL RODS INTO GROUT POCKETS. 4. SUGGESTED ANCHORING METHOD NOT CALCULATED. PLEASE CONSULT LEASE CONSULT STRUCTURAL ENGINEER. 5. FOOTING & INSTALLATION BY OTHERS.FOOTING & INSTALLATION BY OTHERS.

AutoCAD SHX Text
                INSTALLATION NOTES:  INSTALLATION NOTES:  1. CAST-IN OR CORE DRILL (8) 3"DIA. x 22"DEEP GROUT POCKETS INTO FOOTING PER ANCHOR BOLT PATTERN.   (SEE PLAN BELOW)  ANCHOR BOLT PATTERN.   (SEE PLAN BELOW)     (SEE PLAN BELOW)  2. TAKE (8) 3/4" DIA. x 23"L. LONG COIL RODS AND THREAD 5" INTO (8) 3/4"DIA. COIL INSERTS, LEAVING 18" OF THE COIL ROD EXPOSED.  3. FILL ALL GROUT POCKETS W/ NON-SHRINK GROUT AND POUR EPOXY ON THE FOOTING     WHERE SIGN WILL BE PLACED. INSERT SIGN W/ COIL RODS INTO GROUT POCKETS. 4. SUGGESTED ANCHORING METHOD NOT CALCULATED. PLEASE CONSULT LEASE CONSULT STRUCTURAL ENGINEER. 5. FOOTING & INSTALLATION BY OTHERS.FOOTING & INSTALLATION BY OTHERS.


	Q-9S.pdf
	Q-9S-1-Model
	Sheets and Views
	Model


	Q-9S-2-Model
	Sheets and Views
	Model


	Q-9S-3-Model
	Sheets and Views
	Model






